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𝑉(𝑡)
𝑈(𝜔)

Γ 𝑟1, 𝑟2, 𝜏 = 𝑉∗ 𝑟1, 𝑡 𝑉(𝑟2, 𝑡 + 𝜏) W 𝑟1, 𝑟2, 𝜔 = 𝑈∗ 𝑟1, 𝜔 𝑈(𝑟2, 𝜔)

𝛾 𝑟1, 𝑟2, 𝜏 J 𝑟1, 𝑟2, 0 I  𝑟, 0

Fourier 
Transform

FT forbidden

normalizing

𝜏 = 0

𝑟1 = 𝑟2, 𝜏 = 0

𝜇 𝑟1, 𝑟2, 𝜔 S  𝑟, 𝜔

I  𝑟 = Γ  𝑟, 𝑟, 𝜏 = 0

S  𝑟, 𝜔 = W  𝑟, 𝑟, 𝜔
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𝜇𝑄 𝑟1, 𝑟2, 𝜔 = ℎ 𝑘 𝑟2 − 𝑟1

𝑠𝑉
∞

(𝜔) ∝ 𝑠𝑄
∞

(𝜔)  𝜇𝑄 𝑘𝑢, 𝜔
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𝜇 𝑟1, 𝑟2, 𝜔

𝜇 𝑟1, 𝑟2, 𝜔

S  𝑟, 𝜔



•

•

•


